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TDDB(Time Dependent Dielectric Breakdown)

7
Stress Voltage [MV/cm]




Time [Year]

a

Flat-Flat S=10mm2

TOOB test samplet

Curmulative Frobabilityy)

X 05N

EARELY ey )

i

" e B hivem

- g
= -
3 -
e, oD AT
)
- -
-
' - 1
)

Ll irl Ll Ll 1l

Y T RO 1)
Ll

oo o

oo
Stresz Time(Hr)

1.000 10000

100000

y = BE+08e 3280 \

[«]»| Page1 |

5

7
Stress Voltage [MV/cm]




TOOB test samplet

| w108 kvem
| A Okicm g
 E R T PR, 1 G R

e e e e e e e e e e e T e A e ey e e h

Ll Ll Lt Ll Lol

oo o 0100 1.000 100000 100000
Strazz TimelHr)

[«]»| Page1 |




Life time
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(Percolation Model)
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Percolation Model w=50/1=5/d=08/d1 =21
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